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Chapter 12 Solutions

Review Questions

1. Most source code is available on the Internet in tarball format. True or False?
Answer: True

2. Which dump level indicates a full backup?

a.
0

b.
9

c.
1

d.
f

Answer: a

3. Which filename extension indicates a tarball?

a.
.tar.gz

b.
.cpio

c.
.dump

d.
.tar

Answer: a

4. Files that have been compressed using the compress utility typically have the ______ extension.

a.
.tar.gz

b.
.gz

c.
.Z

d.
.bz2

Answer: c

5. The bzip2 and gzip utilities use similar compression algorithms. True or False?
Answer: False

6. When compiling source code into a binary program, which command does the compiling using the GNU C Compiler?

a.
tar

b.
./configure

c.
make

d.
make install

Answer: c

7. The -9 option to the gzip utility results in a higher compression ratio. True or False?
Answer: True

8. You have created a full backup and four incremental backups. In which order must you restore these backups?

a.
0, 1, 2, 3, 4

b.
0, 4, 3, 2, 1

c.
4, 3, 2, 1, 0

d.
1, 2, 3, 4, 0

Answer: a

9. Which of the following commands extracts an archive?

a.
cpio –vocBL /dev/fd0

b.
cpio –vicdu –I /dev/fd0

c.
cpio –vicdu –O /dev/fd0

d.
cpio –vti –I /dev/fd0

Answer: b

10. Source code is commonly obtained in Red Hat Package Manager format. True or False?
Answer: False

11. Which of the following commands can be used to list the files contained within an installed RPM package?

a.
rpm –qa packagename

b.
rpm –qi packagename

c.
rpm –ql packagename

d.
rpm –q packagename

Answer: c

12. When compiling source code into a binary program, which command copies compiled binary files to the correct location on the filesystem?

a.
tar

b.
./configure

c.
make

d.
make install

Answer: d

13. Compiling and installing software from source code updates a central database that can then be used to query and remove the software at a later time. True or False?
Answer: False

14. Which file contains full and incremental back-up information for use with the dump/restore utility?

a.
/etc/dumps

b.
/etc/dumpdates

c.
/etc/dumpfile

d.
/etc/dump.conf

Answer: b

15. Which of the following represents the first nonrewinding SCSI tape device on a system?

a.
/dev/st0

b.
/dev/ht0

c.
/dev/nht0

d.
/dev/nst0

Answer: d

16. What is the most common method for obtaining Linux software?

a.
CD-ROM

b.
floppy disk
c.
Internet download

d.
e-mail

Answer: c

17. Which option to the rpm command can be used to remove a package from the system?

a.
r

b.
e

c.
u

d.
U

Answer: b

18. Which of the following commands creates an archive?

a.
tar –cvf /dev/fd0

b.
tar –xvf /dev/fd0

c.
tar –tvf /dev/fd0

d.
tar –zcvf /dev/fd0 *

Answer: d

19. When compiling source code into a binary program, which command performs a system check and creates the Makefile?

a.
tar

b.
./configure

c.
make

d.
make install

Answer: b

20. Which of the following commands can be used to list detailed information about a package such as its installation date and license?

a.
rpm –qa packagename

b.
rpm –qi packagename

c.
rpm –ql packagename

d.
rpm –q packagename

Answer: b

Project 12-1
Step 1: Not available.
Step 2: 737414.
Step 3: 54%  extention is .Z size 341149.
Step 4: Not available.
Step 5: Answers will vary, -f will force compression.
Step 6: Not available.
Step 7: 57%.
Step 8: Not available.
Step 9: 67.7%; it is higher as gzip is more efficient .gz 238099.
Step 10: Not available.
Step 11: 67.9% higher because –9 or best switch used.
Step 12: Not available.
Step 12: 61.8% as the –1 or fast switch was used.
Step 14: Not available.
Step 15: 74% far higher as bzip2 is more efficient, file is 187806 with a .bz2 extension.
Step 16: Not available.
Step 17: Not available.
Project 12-2
Step 1: Not available.
Step 2: Answers will vary.
Step 3: The contents of the tarball test1.tar.
Step 4: Not available.
Step 5: Yes.
Step 6: Not available.
Step 7: Answers will vary, but it will be much smaller as you used the more efficient gzip on the tarred file.
Step 8: The contents of the test2.tar.gz file.
Step 9: Not available.
Step 10: Yes.
Step 11: Not available.
Step 12: Not available.
Step 12: Not available.
Step 14: The contents of the compressed directory now residing on the floppy disk.
Step 15: Not available.
Step 16: Yes.
Step 17: There is no filesystem to detect and so no it cannot be mounted.
Step 18: Not available.
Step 19: Not available.
Step 20: Not available.
Project 12-3
Step 1: Not available.
Step 2: Not available.
Step 3: o-create a new file, v-verbose, c-supports filesystems with larger number of inodes, B-sets I/O block size to 5120 bytes, L- copy files links point to not just the link, -O- archive file out

Step 4: Contents of the file were displayed, i-extract, v-verbose, t-list contents, B- sets I/O block size to 5120 bytes, - –I- archive file in

Step 5: To the floppy disk, i-extract, v-verbose, c- supports filesystems with larger number of inodes, d- creates directories as needed, u-unconditionally replace files, m-does not change modification times on file, B-sets I/O block size to 5120 bytes

Step 6: Full and no.
Step 7: Files that were restored with absolute pathnames.
Step 8: Not available.
Step 9: Restored files and subfolder names and with –R subfolder contents.
Step 10: Not available.
Project 12-4
Step 1: Not available.
Step 2: No.
Step 3: bluefish-0.13.
Step 4: Yes, yes.

Step 5: HTML editor.
Step 6: Information on how to install it.

Step 7: Begins the installation and checks for configuration, yes it created Makefile.
Step 8: Begins compilation, creates and populates the necessary file structure and compiles the program using the Makefile file.
Step 9: Installs the program to the correct directories.
Step 10: Not available.
Step 11: /usr/local/bin/bluefish, No.
Step 12: Not available.
Step 13: Not available.
Step 14: Not available.
Project 12-5
Step 1: Not available.
Step 2: Answers will vary, but there are a lot.
Step 3: No.
Step 4: i386.
Step 5: Yes.
Step 6: Monitors file access for intrusion detection. GPL.
Step 7: /usr/sbin/tripwire.
Step 8: Removes package.
Step 9: No.
Step 10: Not available.
Discovery Exercises

Discovery Exercise 1

Not available.

Discovery Exercise 2

a) compress –fv /root/sfile

b) gzip –rv /root/dir1

c) bunzip2 /root/letter.bz2

d) gzip --fast /root/letter

e) gzip –l /root/letter.gz

f) bzip2 –t /root/sample

g) bzip2 –s /root/sample

Discovery Exercise 3

a) tar –cvf /dev/nst1 /var/*1

b) tar –rvf /dev/nst1 /etc/inittab

c) tar –zcvf /stuff.tar.gz /root/stuff/*

d) find /var | cpio –vocBL –O /dev/ht0

e) dump -0uf /path/to/some/device /var

f) tar –tvf /dev/nst1


tar –ztvf /stuff.tar.gz


cpio –Bitv –I /dev/ht0


dump –f /path/to/some/device -t

g) cd /root; tar –xvf /dev/nst1


cd root; tar –zxvf /stuff.tar.gz

h) cpio –vicdumB –I /dev/ht0


dump –f /path/to/some/device –r

Discovery Exercise 4

Not available. 
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